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Practise: Applying Trigonometry

The angle between the horizontal and a straight ]1111&
from the viewer to an Ebject is an mlg}e_of_ﬂlclg_atlﬂn
when the object is A OV EJthe horizontal.

The angle between the horizontal and a straight line
from the viewer to an object is an angle of

/2 SSION o

when the object is below the horizontal.

‘ : ion of 39°. The tunnel is
1. A chipmunk dug a tunnel at an angle of depression O :
0.65 IIIJ‘I long with a small den at the end. How far below the surface is the den?

Let _L represent the depth of the den.

Mark this depth and the known length on
the diagram.
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Therefore, the den 1s OF(( m_ below the surface. .
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Therefore, the den is below the surface. ;

2. Cedar shingles may leak if used on a roof with a pitch of less than 1:3. Maia |

is about to reshingle a roof that slopes at an angle of 16°. Can she use cedar |

shingles for this roof? k |

! m "-_ Pitch 1:3 k

3 =l [ |

ad T e g I - .']-T' T -|I.'.-.I.- ¥ i '."-I:I.-.: By

-.__ ik
LIS,




E 2012-02-14 applying trigonometry.pdf - Adobe Reader - |5 |£|
File Edit View Window Help ®

Tools Fill & Sign

€

Dopen | & B & @ B & H | ® & [2]72] = [132%]-]] [
a :

3. A town stores sand for winter road maintenance in a cone-shaped
building. At what angle does the side of the building meet the ground,
to the nearest degree?

COSX = %273’? ML,WM@ mecls Thagy %

4. A repairman stand% 3.4 m from a building and looks up at the antenna mounted m
at the edge of the roof. From his eye level, 1.8 m from the ground, the angle of ™
elevation is 77°. The roof is 11.6 m from the ground. How tall is the antenna?

T

Antenna | i

Building
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4. A repairman stands 3.4 m from a building and looks up at the antenna mounted - L\
at the edge of the roof. From his eye level, 1.8 m from the ground, the angle of ' 2 %
elevation is 77°. The roof is 11.6 m from the ground. How tall is the antenna? _(j ‘_
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